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Assignment #10: Use s.d. and factor-label.
1. A baby carriage is sitting at the top of a hill that is 21 m high. The carriage with the baby weighs 12 N. Calculate the PE. 

2. A cinder block is sitting on a platform 20.0 m high. It weighs 79 N. Calculate the PE. 

3. John has an object suspended in the air. It has a mass of 50.0 kilograms and is 50.0 meters above the ground. How much work would the object do if it was dropped? 

4. There is a bell at the top of a tower that is 45 m high. The bell weighs 190 N. Calculate the PE. 

5. Galileo drops a 5.0 kg cannonball from the Leaning Tower of Pisa, a height of 12m. What is the change in the gravitational potential energy of the cannonball from the top of the tower to the ground? 

6. Mrs. Jacobs dropped an object from 10.0 meters. She knows it did 50.0 joules of work. How much did it weigh? 

7. Richard wants to know how much potential energy his cat has when it climbs to the top of the tree near his house. The tree is 15.0 meters high and the cat has a mass of 5 kilograms. How much potential energy does the cat have?

8. A roller coaster is at the top of a 72 m hill and weighs 966 N. Calculate the PE at that moment. 

9. Calculate the kinetic energy of a car with mass of 1000 kg at speed 70 km/h.

10. The kinetic energy of the same car at speed 90 km/h would be?

11. If the temperature of 34.4 g of ethanol increases from 25.00C to 78.80C, how much heat was absorbed by this amount? (The specific heat of ethanol is 2.44 J/g0C).  Density is 0.79 g/ml.

12. Calculate the kinetic energy of a car with mass of 1080 kg at speed 60 km/h.
Assignment #10: Use s.d. and factor-label.
1. A baby carriage is sitting at the top of a hill that is 21 m high. The carriage with the baby weighs 12 N. Calculate the PE.   250 J
2. A cinder block is sitting on a platform 20.0 m high. It weighs 79 N. Calculate the PE.   1600 J
3. John has an object suspended in the air. It has a mass of 50.0 kilograms and is 50.0 meters above the ground. How much work would the object do if it was dropped? 24 500 J
4. There is a bell at the top of a tower that is 45 m high. The bell weighs 190 N. Calculate the PE.  8600 J
5. Galileo drops a 5.0 kg cannonball from the Leaning Tower of Pisa, a height of 12m. What is the change in the gravitational potential energy of the cannonball from the top of the tower to the ground?  590 J
6. Mrs. Jacobs dropped an object from 10.0 meters. She knows it did 50.0 joules of work. How much did it weigh?  0.510 kg
7. Richard wants to know how much potential energy his cat has when it climbs to the top of the tree near his house. The tree is 15.0 meters high and the cat has a mass of 5 kilograms. How much potential energy does the cat have? 700 J
8. A roller coaster is at the top of a 72 m hill and weighs 966 N. Calculate the PE at that moment.  7.0 x 104 J
9. Calculate the kinetic energy of a car with mass of 1000 kg at speed 70 km/h. 200 000 J
10. The kinetic energy of the same car at speed 90 km/h would be? 300 000 J
11. If the temperature of 34.4 g of ethanol increases from 25.00C to 78.80C, how much heat was absorbed by this amount? (The specific heat of ethanol is 2.44 J/g0C).  Density is 0.79 g/ml. 4520. J
12. Calculate the kinetic energy of a car with mass of 1080 kg at speed 60 km/h. 200 000 J[image: image1.emf] 
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